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MATRICES



1. The values of x , y , z and a which satisfy the matrix equation

x+3    2y+x            0     -7         

z-1      4a-6      =   4     3a     are  respectively -

(a).  -3,-2, 5, 6     (b). 3,2,-5,-6    (c). -3,2,5,6  (d). 3,-2,5,6

2. If A is a square matrix such that A²=A, then (I + A)² – 3A is

(a) I     (b) 2A         (c) 3I           (d) A

3. If A = and A = A’ then

(a) x = 0, y = 5   (b) x = y    (c) x + y = 5    (d) x – y = 5

4. If a matrix A is both symmetric and skew symmetric then matrix A is

(a) a scalar matrix

(b) a diagonal matrix

(c) a zero matrix of order n × n

(d) a rectangular matrix.

5. If determinant of a matrix A is Zero than __________

(a) A is a Singular matrix           ( b) A is a non-Singular matrix

(c) Can’t say                                (d) None of the mentioned
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• ADJOINT OF A SQUARE MATRIX : The adjoint of a matrix A is defined as the 

transpose of  cofactor of the matrix A. For a matrix A, the adjoint is denoted as adj (A) 

and it is also known as adjugate matrix . 

Example:   Let A be a square matrix of order 3x3 . 

A =     1     2      3 To find adjoint of a matrix, we have to first find 

4     5      6      Cofactor matrix of A and then of transpose of this 

7      8      9     Cofactor matrix A. 

Cofactor of 1 = A11   =     +      5   6         =    +(45-48)   =   -3

8   9

Cofactor of 2=  A12   =      - 4   6         =     -(36-42)   =     6

7   9

Cofactor of 3 = A13 =      +      4   5         =      +(32-35)  =    -3

7   8

Cofactor of 4  =  A21 =      - 2   3         =     -(18-24)   =     6

8   9 

Cofactor of 5  =  A22  =     +     1   3         =       +(9-21)    =   -12

7   9
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Cofactor of 6    =      A23      =    - 1     2    =    -(8-14)     =  6

7     8

Cofactor of 7    =      A31    =    +   2     3    =   +(12-15)  =  -3

5      6

Cofactor of 8    =      A32     =     - 1      3   =   -(6-12)    =    6

4      6

Cofactor of 9    =       A33   =     +   1      2   =  +(5-8)     =   -3

4      5

The Cofactor matrix of A is   =          -3     6     -3

6   -12    6

-3      6    -3       

Now transpose of cofactor matrix  A   =  adj( A) =        -3      6     -3

6    -12     6

-3       6     -3       
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